| Efficiency vs Dxy |
0.2
<

5 S
B S A
< A T T

@.16:—----§------€ ------- R St S ALY UL AR
> R S A S A S A S S

KT e S A A S S S S S
© oo : : : : : : : :

(O e e S S S
O
0.08 : : l l : : : : :
0.06

0.04
0.02
o+

- : N N N

Rati

4 4 - 44

1 -

LI L N
»
e
£
5
»-

0955 20-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
| Efficiency vs Dz | —e— DQM_mKkFit_TTbharPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
0.1 —— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap
N U, ; T T T
©

9.09
Py
Hos
(&)
.07
()
0.06
0.05
0.04

0,03 I [t [

0.024f 1}

1Q

IIII|III|
= g
- .

HPS *

Ratio

1k - " ERT S RIR SHAERR O TS R T T 3 2 A%

093 =20 -10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


